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Use1   (a)	 Work out (625)
3
4.

Answer (a).................................... 	 [1]

(b)	 Complete the table of square numbers and cube numbers.

number square number cube number

4 16 64

............. 144 .............

−14 ............. −2744

[3]

(c)	 Write 864 as a product of its prime factors.

Answer (c).................................... 	 [2]

(d)	 Write down all the factors of 15.

Answer (d).................................... 	 [1]

(e)	 Simplify the ratio,

34 : 30

Answer (e).................................... 	 [1]
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2	 29.94 + 35.46 ÷ 6.86
(a)	 In the spaces provided, write each number in the calculation above, correct 

to the nearest whole number.

................... + ................... ÷ ...................	 [2]

(b)	 Use your answer in part (a) to work out an estimate for the answer.

Answer (b).................................... 	 [1]

(c)	 Use your calculator to find the actual answer to the original calculation. 
Write your answer correct to two decimal places.

Answer (c).................................... 	 [1]

3	 A pack of biscuits contains three types of chocolate biscuits.
9
20  of the biscuits are plain chocolate,

30% are milk chocolate and

25% are white chocolate.

(a)	 Find the percentage of biscuits that are plain chocolate.

Answer (a)................................. %	 [2]

(b)	 Write 30% as a common fraction in its simplest form.

Answer (b).................................... 	 [2]

(c)	 There are 60 biscuits in a pack.  	
Calculate the number of white chocolate biscuits.

Answer (c).................................... 	 [2]
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Use4	 Juvani runs 7 km in 2.5 hour.

Calculate his average speed in kilometers per hour.

Answer...................................km/h	 [2]

  

5   (a)	 Factorise completely

x2 + 5x − 3x − 15.

Answer (a).................................... 	 [2]

(b)	 Expand and simplify

(2x − 3)(3x + 5).

Answer (b).................................... 	 [2]

(c)	 Write down the inequality represented on the number line below.

−3 −2 −1 0 1 2 3 4

Answer (c).................................... 	 [2]
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6	 The first four terms of a number sequence are  10,  14,  18,  22,  .......
(a)	 Write down the next term of the sequence.

Answer (a).................................... 	 [1]

(b)	 Find the nth term of the sequence.

Answer (b).................................... 	 [2]

(c)	 Write down the 10th term of the sequence.

Answer (c).................................... 	 [1]

7   (a)	 Identify the like terms in the following.

3y2,  20y3,  6y,  −7y2

Answer (a) ................  and  ................	 [1]

(b)	 Simplify  (7w4z3)2.

Answer (b).................................... 	 [2]

(c)	 Solve for g

5g − 3 = 3g + 7.

Answer (c) g =.............................. 	 [2]

(d)	 In the expression below, 

	                           4w2 − 3w + 6

write down

(i)	 the coefficient of w,

Answer (d) (i) ............................... 	 [1]

(ii)	 the constant value.

Answer (d) (ii) .............................. 	 [1]
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Use8   (a)	 Markus invests N$ 2 500 for 3 years at a rate of 8% per year compound 
interest.  	
Calculate the total amount Markus received after 3 years.

Answer (a) N$............................... 	 [3]

(b)	 If  £ 1 = N$ 17.80; change 900 pounds (£) into Namibian dollars.

Answer (b) N$.............................. 	 [2]

9   (a)	

C

A

B
Name the type of angle indicated at B.

Answer (a).................................... 	 [1]

(b)	 Measure line xy, give your answer in cm.

x y

Answer (b)................................cm	 [1]

(c)	 Draw a circle with the radius of 3 cm around the marked centre O.

								        ●O

[1]
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10   (a)	The diagram shows polygon A.

A

NOT TO
SCALE

(i)	 Write down the geometrical name of polygon A.

Answer (a)(i)................................. 	 [1]

(ii)	 Calculate the sum of interior angles of polygon A.

Answer (a)(ii)...............................°	 [2]

(b)	 PQR is a right-angled triangle, PQ = 3.9 m and QR = 2.4 m. 	
Calculate the length of PR.

3.9 m

2.4 m

P

RQ

NOT TO
SCALE

Answer (b)................................. m	 [2]
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47°

52°k l

m

NOT TO
SCALE

(a)	 Find the value of angle k.

Answer (a) k =.............................°	 [1]

(b)	 Calculate the value of angle l.

Answer (b) l =..............................°	 [2]

(c)	 Calculate the value of angle m.

Answer (c) m =............................°	 [2]
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12	

−1−3 1 3 5 7

y

x−2 0 2 4 6

−7

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

B

AC

(a)	 Describe fully the single transformation that maps
(i)	 shape A onto B,

Answer (a) (i).....................................................................................

...........................................................................................................

........................................................................................................... 	 [3]

(ii)	 shape A onto C.

Answer (a) (ii)....................................................................................

...........................................................................................................

........................................................................................................... 	 [3]

(b)	 Reflect shape A in the line  y = −2 and label the image D.	 [2]
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Use13	 Line (L) is drawn on the grid.

x −1−3−4−5−6 1 3 5 7

y

−2 0 2 4 6 8

−7

−8

−9

−10

−11

−12

−6

−5

−4

−3

−2

−1

1

2

3

4
(L)

(a)	 Write down the y-intercept of line (L).

Answer (a) ................................... 	 [1]

(b)	 Calculate the gradient of line (L).

Answer (b) ................................... 	 [2]
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Use(c)	 Complete the table of y = 2x − 8.

x −2 0 6
y −8 4

[1]

(d)	 On the same grid, draw the graph of y = 2x − 8.	 [2]

14	 The marks of 18 learners in a Mathematics test are listed below.

11,   9,   12,   8,   14,   14,   17,   14,   18,

14,   9,   14,   15,   12,   14,   9,   11,   10.

(a)	 Work out the range of the marks.

Answer (a).................................... 	 [1]

(b)	 Determine the mode mark.

Answer (b).................................... 	 [1]

(c)	 Find the median mark.

Answer (c).................................... 	 [2]

(d)	 Calculate the mean mark of the learners in the Mathematics test.

Answer (d).................................... 	 [2]


